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1. Choose the indirect form of the given Direction (. No.4and 5): Read the passage and
sentence. .' , choose the correct option to answer the questions
. ) that follow : {
I said, “The teacher likes me”. %
. , m HH
A) 1 said that the teacher was liking me. R

: Advances in Electric Vehicles
B) | said that the teacher is liking me.

- Electric Vehicles (EVs) have gai :
C) | said that the teacher likes me. \EVS) gained popularity as

analternative to traditional gasoline-powered cars.
D) I said that the teacher liked me. P

They offer environmental benefits, such as reduced

E) None of the above -
= greenhouse gas emissions and lower air pollution.
/ Many countries are investing in EV infrastructure,

2. Choose the word which is nearest in d '
including charging stations, to support the

meaning (synonyrh) to the given word.
widespread adoption of electric vehicles.

Admire

A) Stop 4. Why are countries investing in EV
B) Praise infrastructure ?
C) Curse A) To promote air travel
D) Blame B) To reduce taxes on fuel
E) None of the above C) To support EV adoption

| D) To replace public transport
3. Choose the correct question tag for the E) None of the above

following statement.
=145 [=] ;
A T 5. Which of the following is a type of EV
[ElR¥5 The windows are open,

. infrastructure ?
A) isn'tthey ? -

A) Gas pipelines

B) aren’t the ’?
) ¥t B) Qil rigs

C) isn'tit?
) isn'ti C) Charging stations

it ?

D) aren'tit ? D) Petrol pumps

E) None of the above

E) None of the above

v
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6. 1 b2 40 fme &1 12%% TR 7

A) 20.5 e B) 15 fime
C) 25 fire D) 12.5fme
E) swaa & & i T8 '
12%% of 1 hour 40 mins is

A) 20.5 mins B) 15 mins
C) 25 mins D) 12.5 mins

E) None of the above

7. Wﬂﬁs‘lmwmﬁﬁmw"‘m?

A) T 1942

B) fa=r 1942

C) 3T 1943 :

D) faawat 1943 ¢
E) 3udad # & 18 Tl v/

Quit India Resolution was passed in (ﬁ"a
A) August 1942
B) September 1942
C) August 1943 |
D) September 1943
E) None of the above

aqﬁfaaﬁm%l N

A) srifrera

C) iad

E) Swiw § ¥ H1§ &

E¥E refers to the existence of more than
IEI,.;“ one level of Government in the country.
A) Secularism ‘
C) Democracy
E) None of the above

B)wwwn
D) werame

|

B) Unit’aFy system
D) Fedé{ralism

¥

. BT IHTE FHAING Ig - a8 FE
formes g fopam T 7
A) Hifer FTh
B) 31eihs WINIel
C) fergs
D) uew f&y
E) 39 H & $I5 T

“Conditions of Economic Progress” - This
work was done by

A) Colin Clark

B) Alfred Marshall

C) Robinhood

D) Adam Smith

E) None of the above

10. Fm=fafaa # @ B weg T |

A) FEH B) wtam
C) D) SHTICE
E) 3w A @ %i§ T

Flnd the odd word from the following.
Pigeon B) Crow

) Parrot D) Bat
E) None of the above

11. wer i Wl ) g IR wgeH ek
g Prifa dar e 7

e
E HH

In human beings, the posture and balance
of the body is controlled by

A) Cerebrum

B) Cerebellum

C) Medulla oblongata

D) Pons
E) None of the above

L
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12, Frerfirfan & § - w1g T AT
At gr s e g A A

A) S B)
C) | D) drT
E) 39w § & B3 T

Which of the following metals was not
known or used by the people of the
Harappan Civilization ?

A) lron

C) Gold

E) None of the above

B) Bronze
D) Copper

13. WRd ford 9% (RBI) dohed HHT-UR Gl

T Fam F0 o e R STRisg e o
T g2 7

A) TSiee HifEs B) Woe ST

C) Uriee 18 D) W i
E) s9ga & & i T

Which international initiative has the F{eservg
E,] EI Bank of India (RBI) joined to enable instant
E['E“% cross-border retail payments ?
A) Project Phoenix B) Project Nexus
C) Project Dart D) Project Horizon
E) None of the above

14, %1 3 i Afaum % arese
243Q% arq ied TEITEA H T R |
A) TSI B) fren
C) werwi & D) et
E) 99w § % B
means an institution of
self-government constituted under
Article 243Q of the Constitution of India.
A) Panchayath B) District

C) Metropolitan area D) Municipality
E) None of the above

15, Spiah T8 & e H Semadt wffear %
%y ¥ =4 arficha ferar @ & 7
A) Tl FHH e ¥ gited e @
B) =il 38 tMYHaT # T I Bt &
C) Fif% I THTN I~ HT &
D) it 98 T 1 raenfya e 2
E) ST # A g 7

Why is burning of natural gas
classified as an exothermic reaction ?

L
Ehh:

A) Because it involves a change in state
B) Because heat is produced in this
reaction

C) Because it produces light .
D) Because it absorbs heat
E) None of the above

16, ‘i ¥ e ahes A7 5 i P T T R 7
A) TTETRS THEe
B) wi.sft. TAIe
C) o1t TR et
D) rerrg st
E) 3% & @ i3 Tl
Who is known as ‘Grand Old Man of Indi&’ 7
A) Gopal Krishna Gokhale
B) M.G. Ranade

C) Bal Gangadhar Tilak
D) Dadabhaj Naoroji

E) None of the above

JF4 | (WHRRRE AT mm
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47, v R ® 1 e, 2025 H

<1 argratee g fepa | -
315 sfear (ASSOCHAM) -~

B) ¥eriet TEIRITEA 3T wiTeae TS A
FrE (NASSCOM)
C) etem T 3 S mm@g
Ze& (FICCI)
)mﬁ@mmm%@w")

E) Suds # § HE T

Manish Singhal was appointed as the

%‘-"ﬁ% Secretary General of on
Y 1 January, 2025. = .
A) Associated Chambers of Commerce and
Industry of India (ASSOCHAM)-
B) National Association of Software and
Service Companies (NASSCOM)
C) Federation of Indian Chambers of
Commerce and Industry (FICCY)

D) Confederation of Indian [ndustry (cny -
E) None of the above

A

19, sifra <t 3 G ¥ T R it
5 e gira A BIA B, = AT Z
Sftp gt @ 5 R, it e 4 S
ST Ted FSTHM 8 7

A) TRH

B) SicqAl

C) =dl

D) i

E) Swdw | & HIS 8l
The age of Amit is same as Sumit b
they are twins, Richa is younger than
Richa is younger than Jyotsana but eld
Saurabh, Sumit is younger than Jyc
Who is the eldest among them ?

" A) Saurabh /

B) Jyotsana

C) Richa

D) Amit

E) None of the above

20. Faee TS JaH 9Rd & 78 U= 3§ 12

A) ghEmm
| B) wey W
18. W@ ¥ fa=wm =1 LPG #iss i%ﬁg’.@a - C) USeIH
ERIR O - D) A
g; 132? B) 1992 - E) Suged & & WIS &1
. D) 1990 - Keoladeo National Park is locateq [
E) 3'4@"’5 AR 3 in which Indian State ? IEIF.!
LPG Model of development wag mtroduced in A) Haryana
India in B) Madhya Pradesh
A) 1995 B) 1992 C) Rajasthan
C) 1991 D) 1990 D) Guijarat
E) None of the above E) None of the above
e
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N
fiyr (9.4, 21— 25) : Frefeiad Al
mﬂﬁmﬁaﬂiﬁﬁqwﬁﬁﬁﬁi'

21 — 25) : Study the following

Direction (Q. No. .
questions

information carefully and answer the
given below.

The given bar.graph shows the quantity of

o DA I TS A W E F Sy
£ 5 TE1 H foe SR g 7
B}-85.6%
D) 87.8%

g2, Bty
aferdl
p) 83.9%
C) 89.5%
The quantity of Carrot sold in B and D
s together 1 what percent of the total quant
8% of vegetables sold in E ?
A) 83.9%

C) 89.5%
E) None of the above

B) 85.6%
D) 87.8%

Carrot and Radish ) (in kg) sold in
;:gtji?ft::fesni sig;s. 03, FH 33 T el 1 AT A, C 3R DA S m
et i e A R S F ° o9 T e o
-~y - 3 IR 1 I 458 | FH o TR R
00— T g i || IR
o ' B 'X& A) 810kg B) 780 kg
720 W},
S — LD )/'v bC) 750 kg D) 720 kg
540 P (0 s d 3t
4504327 8 gk nfity of Radish sold in F is the averag
360 - - tity of Radish sold in A, Cand D togethe
270~ i AAdthe ratio of the Radish to Carrot soldin
180 - - is4: 5. Find the quantity of Carrot soldin F.
oo | I8 A) 810 kg B) 780 kg
A B e D E C) 750 kg D) 720 kg
H Radish [[] Carrot \\\ E) None of the above
W kol BRI -
b,\,; - 24, BaﬂxFﬁﬁa‘ms‘q%iﬁﬁ@ﬁmfﬁé@
;4.¢1.mﬂ§$ﬁﬁwaﬁtq?ﬁaﬁwﬁw 32:35?IF3ﬂTDﬁa?ﬁ”§E”
NV s - % i g s IR | »
A) 620 kg B) 616 kg A) 116 kg B) 108 kg
C) 612kg D) 608 kg C) 112kg p) 1089
E) S & i il OvmAd e ¢ yegetable
[+ & What is the difference between the quantity The ratio of the total quanﬁlty ?he differenc
E]F-g% of Carrot and Radish in all the shops soldinBang F is 32 : 35- Find bles S0d i
“" together ? getWEBn the number of vege!d
A) 620 kg B) 616 kg and D,
C) 612kg D) 608 kg é) 16 kg B) 10; :zg
E) None of the above E; 112kq p) 10
- ™ - Mm'f‘fii ftheabove e

AT

A
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05, AT T FE N AET A IR B i = T T
%7 7man 3 C 3R D # 3% 7a TR AT b
o T 3T R | AT S wfeEi i el AT
F1a HIR | (TR, Teft 3 ) ;

A) 1124 kg B) 1096 kg
C) 1152 kg D) 1048 kg
E) Suda # & g T

The quantity of Pumpkin sold in A is the
difference between the quantity of Radish
E#Esold in A and B together and the quantity
¥4 of Carrot sold in C and D together. Find the
*1otal quantity of vegetables sold in A (Carrot,
Radish and Pumpkin).

A) 1124 kg

C) 1152 kg
E) None of the above

B) 1096 kg
D) 1048 kg

£y (.. 26 — 30) : Frefaa e a%qm.qi‘f
T W 3 I AR |

Amaftiz 1 TeER g § afrh-d T ofk 3w
I35 WIGITE HI AT TE T ME TR 3T
o1 =TeT 3R gt A fi weriel Y Siet wa e
: & fre 3w e =y 1
9B B9 TG Sis guey | ¥y
TERIEG TUT 3T WER 1 Y Ty maq .

B A 1 S S e |
{ AT T A~  TES TN 3 B e w0
;‘j et el wwife Sl | R R v e—me
R st g =
: Th ATl = = HET- W W, g
 Gmimmwdd o W <f -
“‘mter <6y v % forg 1"

< 778 3 FERR & Hal-* T el
ot 7g T Y A 8 | AT E IR
S = 7 RS TR H ot ST E
“3iyg 1" SaTd HAT A B - HAK
2 | ofer, =i @1, 39 9« et 3!
s gl T TN W g @ A -
Fq AR | 78 T fhaa TR g1
Frar 2, 79 fahaft gom 2, T 7S
Hehdl 7

“gaaqﬁwmwwm%aﬁtﬁn
a1 fee w fafer o & 8, 38
g 1 @au 8; W8 I99 39 6 96
&1 1 grETerg Tt 8 | ol fird g
WH-ER = =1q HU, & Hi TG HU
5 9 el wi Ffvaa w0 @t |

26. Fart F=1 Hater & g FH & F

T B ?

A) 3T Tl 1 e @ forg

B) 35 TRaRaTel % A1 gHaT 3
foa |

C) @a A1 & Fatar § ST |

D) 3R Ig Hd T Jlfad Fehs
g Brft, 398 w94 % forg |

E) 39daa § § ®I5 76

27. T Gt FAT S F TES I
gt 8 ?
A) 39 g€ I 5¢ T IR |
C) &9 Sia st AM-F T 7l wawr
D) &7 gdath ¢ 3N FF W+ o
qHaT e ?
E) S7gaa # § FIE 7

|
"ww%mﬁgqﬁﬂ{m 1
| T

JF4

-
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Bl T S



Join Telegram Channel "QuickSarkari.Com"

28. 8= TaTeISh 3T HENIET Srafg 1 Teht
gg T H IH il 90 FHW T E 7
A) G g T
B) UShIT TSI
C) &g ST
D) I BT 1 T
E) 3I9dad H | 18 &

29. ‘39 Fg HI 5 HU LM | T8 g e
L= s B 2 17 3 A ) e el W 7

B
A) T gadt o Toft |
B) T wdl 7 gud wEl @
C) T Harl &1 4 | &
D) Tk & I 31 i @
E) 37 1 & H1E 81

30. TEWEA IR 3 FER Hi F= Gdy g3 ?
A) TR T TG =R =T =AY R e |
B) & di @ TEA H AT R R U |
C) amafiesh T qIh Te = |
D) @ wré) Tt e & Set 6 forg dEm A
RS
E) 3% 4 & $18 Tl

fm (w4 31 - 35) ; FreferfEa e H TG ©
T 9T & I A |

T FE R A o & | gag = e STEEn ¢
@ o 3 qEm 6t e FW A gh, w6
T 3 S T e 1 g3 g st
# Jog i % qer 6 A on Wl | 78 yaueg il
& e o | 3 gaus ¥ zAed g 1, TR @
Wi 7 o e, T & T o1 3 o
qae I THE B 3 T A1 IR W] FE §
I8 THSH T B T | '

3t T g A ST YA ) FHAR A QG g,
7 e @2 36 W B | F F e e g
1 3 A AieaR Fersl A e 7 & e |
Y 1o e € 99 e | e SaieTy SHeR e
i i fea o 91 e 2 o6 A g @ et wi
fieeht Ta I T i 7 S 6 R e gy
HET R 3T % WY S I H G- B Rt
fireer G @1 | 36 A1 6 I 99 AW Wk 98 W
T T R WA W T g R fem
3R e, Sl og Suh @iEl 4 B § | WE
% I FE A W T A T 76 I8 AEA B
e B R R | O T YA 99 AR R,
Tt el B W qGHI =T |

T T AU O AT QU R | IEH A W AR
I, 9T e & avieaE & we o v 'l -
e el JTeiaT Hl WS, T | Terhal 98 I
g 3 9§ Halgem amft |

aret, “ardt gerg ot M A I AR THeH T e
AT 3T, I AT H TH @IS gL S A e
TG TEaT B | 37T & 30 SIeTl Hrsied | et 1 A
2 g g3 T firr = T AT | 9 S F A FA
YT9e IGF A @ 8 | T8 A g ey e
214 & | 3 3mee, WHTe & Suig 98 AIed § | I
g@ﬁﬁw,ﬁmaﬁmggﬁrﬁm% | | TH
froder T8 # | 3 oFR T o1 @ € ol I 98, @
3 wei, ‘FHerwa 1 @ g | &

a1
31, o9 ‘F s N A e ammd @ B
orE® ot A Igh Ay 97 TR 7
A) &L M T g1 T gER T Y |
B) iR 28 &1 FEMI i FTE T T ¥ |
C)ATTAFMATATY |
D) @ it 3 iR & 3197 A < Rageem Fieg
STl 38 I 35 Sial A BieT o1 |
E) 3/ § ¥ 1 &

JF4 | Immmm

w8
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30, freell T@ <’ T T 3T I AT 7
A) 3o FgU A
B) foreft ersfumren H
C) 3T T b W R
D) et =t wet A
E) I # & IS T

" a3, s o 3 o feaar @ o1 @ E AT
@, @ 3 R ?
A) T T E |
B) feeeft <1 w1 & |
* C) werehel 1 @I E_|
) T ST @ E |
E)scrgaﬁﬁaa?r%ﬂﬁ

34, ﬁ@?ﬁmm@ﬁa%‘m%aﬁﬁw
e AT ? |
A) % 9gd w81 YT 2 |
B) AU Q@A F e waram |
C) % e gar vrEH I A frerd AT |
D) F ¥ T % my Rt wEw St A

fir 6 oft |
E) ST # & i T

35. 99 ‘&’ ﬁ%@msﬁﬁma@fgwﬁ
&%%ﬁmmmmgm ?

A) et 1 s 3 s Ry |
B) S i S1fE W@ R |

g6, it feror weg ferdrit S faioar
qaTd &, I8 T HEd 8 7
A) Sfereor
B) @reAIe famo
C) fortr fastwor
D) 3evd formur
E) e # ¥ H1E T

EJEE
" f
E :l:l"l

37. ‘er AQHE G 8, JAM G VG B
A) < B) g8
C) g4 D) &w
E) STH A & HI5 &

38, JYHK ! A T wEd 8 |

INEEED

C) Fa7
E) STaa & & HI§ T

B) 34
D) Fa

39wyl ¥« HgFl F FEHIPR DI & ?
)|z g
B) Ireraret
C) wEg
D) SERIeRt ¥EIg
E) Iuga # & IS T

40. it T IUE % 8, Rt wi § 9

C)Qmmﬁ%ﬁﬁeﬁﬁwawﬁmi' aa;’f::;rwaﬁﬁml 3 gg
D) gaursg wht AT # W6 sy A MGUED
Imamﬂlgm %gﬂéﬁ C) Wit D)srr&ha;/
E) 39w § & 1§ Te E) ovd A @ FIE T ;

(TR EY

JF4 —-—
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41. <19 T AR S S F SR
Fdl & o wfufsran fger & qoE | R
T 9T B 7

A) ST Sl 39 el @

B) qrawH fira &

C) aTYHH FE & 8

D) dTHH Fg T 8

E) 3ugad @ § I8 Ta
Eﬁ What. hap?ens to the temperature of a
E!.,:;.q reaction mixture when a chemical reaction

absorbs heat energy ?

A) Heat energy is produced '

B) The temperature falls
C) The temperature remains th

(=

X

e same

D) The temperature rises
E) None of the above

ﬁﬂﬁ:%qﬁé:ﬁa‘iﬁisw

42, T7A FIc
1 T 2 |

p) T FA

p) awifEa 5 FI
c) @ o

D) e

E) m@aﬁﬁﬁéﬁqﬁ

gap between the question hour

The time
day is called

and the agenda of the
A) Zero hour

B) starred question hour

BN ————

A) T B) aTchATehul
C) IUMATETE D) fer
E) S0 H ¥ B

What term describes the splitting of a

country into smaller, often hostile units ?
A) Federalism B) Balkanization
C) Colonialism D) Annexation
E) None of the above "{i

44, 2 e @1 TR 1530 M I
789, 15 2, @ A 4.8.9. 7 27
A) 102 B) 84
C) 120 D) 112
E) Iodea & & FE T
The product of 2 numbers is 1530§qﬂ9~\heir

HCF is 15, then their LCM is
A) 102 B) 84
C) 120 D) 112

E) None of the above

e wﬁﬂ—a?ﬁﬁwﬁﬂ"w

E)
"Deve!opmen!
Experfence”bo
A) S.N.Sen

B) Adam Smith

C) Amartya Sen
D) Sukhamoy Chakravarty

planning — the Indian
ok was written by

=
[=]%::w

'S

T T W A _ '
e v
e ——

e =y T W T
e e ek [PPSR e = =~
2 TR i e BT e 3T

C) Half an hour
D) First hour . E) None of the abo‘fe e
. w--—'—"""”""—d"“w.
E) N P %10%
e pplWRETETE p— ,

B
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46. BT IMYE W w1 ¥ Frafafea # A e
T 1 "G HLaT R ?

A) et TeEd IR e
B) S&r=d, Tee 3 IHTe
C) ael Ferad 3 g=1rg

48. T Hat =gl &l e f g8 2 = : '
foeertt it 28 T el 2
A) 520° B) 320° 4 p s
C) 140° D) 840° o g
E) 39l T ¥ F13 71 Y9
How much angular distance will be covég@f

D) e ’13@‘ 3R e £ \0 by the minute hand of a correct clockina \ /
E) 39ded H & H1S T8 7 | v period of 2 hours 20 minutes ?
_ s A) 520° B) 320°
'The Chhaﬁ}ogya Upanishad clearly refers C) 140° D) 840°
\to whichzpt the following ashramas ? ﬁ"l/, l‘,’ E) None of the above
/ X A) OAYy Grihastha and Brahmacharya N :
B) Brg?acharya Grihastha and |%E’Efl I Ffean’ g Frass g
tqf prastha \\A’{Sllill‘ilii 1T oft 7
m{') C) ‘@n!y Brahmacharya and Sannyasa R Eﬁ\ B) .7 &9
% nly Grihastha and Vanaprastha =) U‘q',a‘T - Dy Gﬁ ﬁv_ﬁ
' | E) SR A A HR T -, N

_t{ ) None of the above

A

47. Sfe 281, R 6 s, 2025 ﬁ.:m
wﬁﬁa@wtﬁr,ﬁméw%ma} ?
A) fdte '

publish

A)RGW

E) None of the above

The bog%fconomrc H[story,g{ feia’ was

B) S.N. Sen
D) B. G. Tilak

B) Ta13ee fhren ' )
50. 2 ufErR fagd ORI YEIa.F 91 4R F o
C) =t vis .
) fagatt % &= fovemat 0,1 e %lwﬁgaﬁ
D) stesferan i~ Fde v d 7
E) Iwiw # & =8 T " A) 2 3 B) 0.05 aim
. : e D) 0.5
BF’:EJ“E Justin Trudeau, who announced hig- g Wzo § 3§ F T ! =
E.E‘ﬁ,. resignation on 6 January, 2025, served as _
the Prime Minister of which country 7 Potential difference between two  merg
A) New Zealand points of a wire carrying 2 ampere [R5
By Unitéd Kingdors current is 0.1 volt. What is the =
o) C resistance between these points ?
) anade.l A) 2 ohm B) 0.05 ohm
D) Australia C) 20 ohm D) 0.5 ohm
E) None of the above E) None of the above
JF4 NI ER RN R113% P.T.O.
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4% (9.9. 51 - 55) : aTferest =7 areqas ¢ 3 T
FT I @ |:_‘“.'.' .

man—aam{sﬁtﬁ o Ui eI g g A
TC AR |-

Direction (Q. No. 51 - 55) : Study the table and

answer the questions.

Laptop sold by five different stores in different
months.

BRI g | gem | wE | srmem
Store | June | July May | October
I 240 | 342 | 234 | 210
J | 230 | 234 | 432 | 242
(K .| 120y | 338 | 235 | 232
Y| 280)| [ 348 | 342 | 178
M | 326 | 456 | 362 | 148

51. WAER, Kaﬂth%%mq%m N %

T

52. eTTs 3T aRE § R J g 39 T Avely
1 T 7 AR I § ®WR M gR 8N o
vty &1 fora Sl 2 7

A) 66.81% B) 69.18%

C) 78.32% D) 98.33%

Eraqgaa & B T
1", Number of laptop sold by store J in July ang

October together is what percent of the laptop
sold by store M in May and June ?

A) 66.81% 69.18%
C) 78.32% '-98.33% "
i E) None of the above

53. A 57§ WR L g 3 M 37.5%

e gt ¥, o ¥ Wk L g 4y
T -3yt et w i | -
A) 175 B) 145
C) 125 D) 142

E) W= & & ¥ T
It 37.5% of laptop sold by store L in June is

E,,%'-.E

T=

defective, then find the non-defective laptop
| 3T M %%ﬂqﬁmaﬂmm%? sold by store L in June.
JE N 175 B) 145
N 100148 ,\@h ‘(’ ')’ . C) 125 D) 142
B) 21:37 @/ {5!0 /)d( E) None of the above
C) 25: : <
& \} 'Vq’\'\ /B' AR | g 9 g A, ghm A
D) 29.:37 )?;‘(" K 71.42% B | SREHEN 5 RN 1
E) 3w 4 & =13 T A Aueiq B GE T H
[
What is the ratio of the Iaptop sold by A) 21 \‘@ B) 54
?E'E;‘fmstore Kand L in June and the laptop sold by C) 86 D) 8%
: a u :
O} e -~ E) Svdw # & %15 el
| and Min May ? ;
In October total laptop sold by store | is
A) 100:149 71.42% of total laptop in the shop. Find the
B) 21:37 number of unsold laptop in store | in the
C) 25:3 month of October.
) = ey A) 21 B) 54
D) 25;: 37 C) 86 D) 84
E) None of the above

E) None of the above

(RN

w124

R T S T A PR e e S S

T, S T e "

[Shaes s Lt FFs

s e

T

e e cm o e




55. 7§ WK, L 3k Mmﬁcé%%%a@a%ha””e'gé?%ﬁﬂﬁ?ﬁggﬂié%@ﬂw\@%wé ?

T () Fe Jma hifv |

A) 313 B) 263
C) 256 D) 231
E) ST | ¥ i 7

Find the average (approx.) number of -~
laptop sold by stores K, L and M in May.

A) 313 B) 263 @ é
)

C) 256 D) 231
=R
S

E) None of the above
56. G A A1AT & 3 TeH A H T W
2 | ofEn # fre g e § 7
B) 3
C) 1 D) 4
E) 3T H ¥ SIE 7

Suket has three daughters and each daughter

,EE@F‘E has a brother. How many male members are
Elﬁ% there in the family ?

A) 2 ~B) 3

C) 1 D) 4

E) None of the above

57. 2025ﬁ§ﬁﬁﬁ%wgwrﬁﬁu‘mnﬁn§
e © et s (@%mﬁﬁmw)

Wl 2 7

A) 139 B) 140
C) 145 D) 135
E) swfww § | #g 7

How many total Padma Awards were | -
announced in 2025, including a dug ca:se
(counted as one) ?

A) 139

C) 145

E) None of the above

B) 140
D) 135

)

E) T A
S EERex)

~ Which of the following forests are adap't

India shares its land boundaries

with how many countries ?

A) AIEER o
B) wofdTelt «/
C) fia v
D) Hicer

to saline water ? \‘§

\
for il
A) Evergreen % AR
3
B) Deciduous N
C) Mangrove 1 »
D) Thorn

E) None of the above

59, WRA U1 i =iar fopaw 2wl & ey gmem
HET R ?

A) 9

B) 6

C) 5

D) 7

E) 39ged & & Hi5 Tl

[=] [:_'&l
O3
A) 9

B) 6

C) 5

D) 7

E) None of the above

T

JF4
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60. W HfTTH 6 3H=8e 129 F 7, 62. WY =% S Y NI wezrar o
&I JTE I =TTy Hitd aregeral fovem Gy
fear & | ' A) T fogrt drg
A) Tat=s =mEea ) B) ram T
B) fren =mamea C) ¥ee
C) =9 =mEwH :
D; UM =T ' < B
E) Swdea # & =1 7 B SR i
o Under Article 129 of the Indian Conéﬁtution, 5 Wh.o_handed arerie Preéidentship of
5@? the Vs B e as a Indian Independence League to
™ Court of Record. : Subhas Chandra Bose ?
A) Supreme Court - A) Rash Behari Bose £
B) District Court 2 B) Maulana Azad
C) High Court ; C) Nehru
D) Gram Nyayalayas : D) Gandhiji

E) None of the above ' E) None of the above i

61. Frofafa & w-ah s om 72 ¢ | 63, P dem sjmen 8 s s (2) % v

A) 29 marr T 7 |
B) 5 ‘ i
! o7 = 12 36 3 324, 7
C) 47 ;
; ' E’ﬂ B) 475
5 : C) 680 D) 520
E) ITdF 4 & =1 7 ;
_ E) 39w & @ ¢ &
Which among the following is not a prime _
What comes in place of question mark (?)
number ? & EE
-4 - 0 9 . -
A) 29 2 in the following number series 7 ’E’:g:‘.ﬁ
B) 57 4,12, 36, 108, 324, 7
C) 47 A) 972 B) 475
D) 53 . C) 680 D) 520
E) None of the above 3 E) None of the above
(TN W14
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64. mﬁmﬁwmaﬁ:ﬁmﬁma&mﬁa

g un v :
A) 1966 B) 1986
C) 1996 D) 1976
E) 3w & & i '

Consumer Protection Act in India was
passed in the year

A) 1966

C) 1996

E) None of the above

B) 1986
D) 1976

¢

65. e e g T =1 eefim A B 2
A) IRES B) BI&TE
C) ToRUM D) I RN
E) 3w & ¥ %1 T

Rasiya Geet is a regional song of which
State ? B

A) Jharkhand B) étﬁ'hattisgarh
C) Rajasthan

D) Uttar Pradesh
E) None of the above

66. 26 REw, 2024 F frg 3w Y TR FRER

@?ﬁﬁwﬁ%ﬁmuwmz-ﬂw
whigrr femem 7

A) TEE
C) Tl
E) S5 & & hig T

On 26 December, 2024, Whlch country
successfully tested the firing of the supersonic

B)!aq
D)éj-._';

"M missile UAV-122 from the Bayraktar Akinci
drone ? _
A) lsrael B) Hussia
C) Turkey D) Iran

E) None of the above

67. Tftesh = form wm & 52 < yrais Bemd € 2
A) diaam
B) 4d fes
C) iy fyes
D) foa e
E) SHT 1 | i3 T&l

Which part of the Tripitaka contains the
conventional teachings of the Buddha ?
A) Dipa Vamsha

B) Sutta Pitaka

C) Abhidhamma Pitaka

D) Vinaya Pitaka

E) None of the above

68. IS THIiteh Ig §a (ICAO) it
1 qEATTY R 7 7 i
A) FEH
B) df@®
C) fman
D) it
E) 37« & / I e
The International Civil Aviation Organisation
(ICAO) has its Headquarters in

A) Brussels

B) Paris L

C) Geneva ““"*-..‘

D) Montreal : "'-«.ﬂ_%

E) None of the above R ¥

JF4 (NI EAEERO

%158
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[=];

60. MTea iU 61 3=de 129 % W&,
) e 1 = i
frmrmm 2 |
A) HaT=d FEE
B) foen =maem
C) I=9 =
D) I =ImaTe™
E) Suda | § =1¢ di

Under Article 129 of the Indian Constitution,

A the has been declared asa
™ Court of Record. !
A) Supreme Court
B) District Court

C) High Court

D) Gram Nyayalayas

E) None of the above

61. Fefefaa & § Si-d s e 38 2 -
A) 29
B) 57
C) 47
D) 53
E) 377 & & wrg T
Which among the following is not a p;time
number ?
A) 29
B) 57
C) 47
D) 53

E) None of the above

areneran forem oidt 2
A) T fagrh <

B) AT 37T9TE

C) Te%

D) wiiefieft

E) e & & K T

Who handed over the Presidentship of
Indian Independence League to
Subhas Chandra Bose ?

A) Rash Behari Bose e

B) Maulana Azad

C) Nehru

D) Gandhiji

E) None of the above

63. fFrfafen g Jaen § v fe (2) % wm

qt ?an I 7
12 , 36, 108, 324, 7

\3 % B) 475
C) 680 D) 520
E) Iwfw § & F1S T
What comes in place of question mark (?)
in the following number series ? & E’
4,12, 36, 108, 324, ? o
A) 972 B) 475
C) 680 D) 520

E) None of the above

(R
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1. mﬁmﬁﬁmmmﬂmﬁmﬁmaﬁm&a

AT UT 7

A) 1966 B) 1986
C) 1996 D) 1976
E) 3w # & I8 78 '

Consumer Protection Act in India was
passed in the year

A) 1966

C) 1996

E) None of the above

B) 1986
D) 1976

35 W fa fre = w aflafa g 7
A) FRES B) oitemg
C) TR D) IWC SR
E) Sudsa 3 & % e

Rasiya Geet is a regional song of which
State ? |

A) Jharkhand B) Chhattisgarh

C) Rajasthan D) Uttar Pradesh
E) None of the above

66. 26 T, 2024 H Frw 2w 3 TrEEE aee
ST 8 guEite fERe UAV-122 @7 e
wlerr foman ¢

A) RS B) 1?\1;.[.
C) gt D) ¥
E) 7w # & 9 T

.....

! IEIOn 26 December, 2024, Whlch country
successfully tested the firing of the Supersonic

*! missile UAV-122 from the Bayraktar Akinci

drone ? _
A) Israel B) Fhissia
C) Turkey D) Iran

E) None of the above

67. Tiftes & forg o ¥ g i arivfes Rremd € ?

A) Ea

B) 44 fues

C) Ffium fies

D) fo fies

E) 3w # & i 7
Which part of the Tripitaka contains the
conventional teachings of the Buddha ?
A) Dipa Vamsha

B) Sutta Pitaka

C) Abhidhamma Pitaka

D) Vinaya Pitaka

E) None of the above

ES5E
=

e
wlls

68. It Ml Igg7 WA (ICAO)
1 YEITe el [ 8 ?

A) gETH

B) Ui

C)

D) wit~ae

E) 39w § @ 1§ 7@l

The International Civil Aviation Organisation
(ICAO) has its Headquarters in
A) Brussels \

B) Paris \

C) Geneva .‘\m"*-
D) Montreal :""'"m%.'-\
E) None of the above o Mg

JF4 LT

w153




Join Telegram Channel "QuickSarkari.Com"

69.

0]

e]

[=I¥7%

r%;f‘_lil

70.

[EREIE i e T T A L S—
frama 2 2

A) e

B) 3tmdiex

C) witex

D) dieediex

E) 39g= 4§ & =18 7
Which instrument is used to measure
potential difference ?

A) Galyanometer

B) Ohmmeter

C) Ammeter

D) Voltmeter

E) None of the above

FAM AEFIE 2025 WRA 3% fhg 2w %
T A frn w2 e
A) =
B) 7541 313
C) =i
D) o™
E) 7® § & +r8 7
Exercise CYCLONE 2025 is conducted
between India and which country ?
A) Egypt -
B) Saudi Arabia
C) Turkey
D) Maldives -
E) None of the above

71.

7 fates & Hau # Pefafea § 3 S
FHATIR ?
A) T E ¥ el oft e 3 ol v
Tl 2
B) 38 Facl dwa # Jw R s ey ?
C) 38 Faw e & A fam 5w 2
D) sﬁém%ﬁﬁﬁwﬁﬁmﬁmmm%
E) 3% # & = T
Which of the following statement is true
regarding the Money bill 2
A) It cannot be introduced in either House
of Parliament
B) It can be introduced only in the
Lok Sabha
C) Itcan be introduced only in the
Rajya Sabha

D) It can be introduced in either House of
Parliament
E) None of the above

72. e defi F Prferfaa 3 & w-an

HIETH HATT & 7

A) IR T % Fed

B) SI&t Yigru % feru O a4
C) 3ucht =g

D) =3 99 W

E) 3w # A i3 i

Which of the following adaptations is Elrg%
common in desert plants ? Ofia
A) Bright colored flowers

B) Thick stems for water storage

C) Shallow roots

D) Large flat leaves

E) None of the above

JF4

(TBenn

TR re——
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73. W - 1983 Tz fva o s @ frm oW
H BT AT ?

A) FREA

B) wifehe™

C) gl

D) ¥is

E) ST | ¥ ®I3 T8

@@ India defeated which team in the 1983
gt : N < r, \
¥ Cricket World Cup final ? My
A) West Indies .
B) Pakistan q

.
C) Australia @g‘]
<

D) England

E) None of the above AW s

-

N
74. uﬁmﬁs&ﬂmﬁ m%aﬂt@
F L %gﬂﬁaﬂ%% ?Pr:mtlaﬁ ﬁam%l

H@Iw%? ‘_____,
A) 1% B)%—

1 1
C) P D) i
E) S A & Frs T8

1
If you subtract 2 from a number and

multiply the result by l, you get — The

number is
A 11 3
) A B) 7
1 1
C) > D) =

E) None of the above

75. WA arferaer i i 2

A) B

B) Uit 3R ¥=R

C) =MR 3R arfirsg

D) J&m

E) 37w # | % T
The backbone of the Indian Economy is
A) Agriculture

B) Transport and Communication
C) Trade and Commerce
D) Industry

E) None of the above

76. FET 1 THLH 08 7
A) T
C) &
E) 394w 4 ¥ FE 7
What is the capital of Cuba ?
A) Prague B) Quito
C) Havana D) Dhaka
E) None of the above

B) f&

D) &=

77. 233 dielwt ey § T3 diE g 7

A) 3 B) w4
C) ¥ D) ¥
E) I # § &1 T

What is the symbol associated with 0 2
Parshvanatha, the 23™ Tirthankara ? [=] &
A) Lion B) Snake

C) Conch D) Bull

E) None of the above

JF4 (T EN LNy

21T 3%

P.T.(
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78. Preaferfiam & fird 2024 # -3 ¥ forg | 80, “wied i A v Ree 7 E‘]'IET]
T JER (cRrem) frer ¢ b T
A) ¥ Fm > B) e %5
B) TR ey ' C) widfieet s
C) Trefteria Tom Yo | D) ®1.3M.
D) 33z smarin E) 3w # & g
E) S & & =i LG Who founded the ‘Forward Bloc’ ?
Who among the following received the A) Gandhiji ;
..:-. +:| Arjun Award (Lifetime) in 2024 for - B) Subhas Chandra Bose
Para-Swimming ? C) Motilal Nehru |
A) Sharad Kumar . - B e D | :
B) Mariyappan Thangavelu 3 E) None of the above :
C) Murlikant Rajaram Petkar
D) Devendra Jhajharia :
E) None of the above = { . o e R

HIWE |

79. RA g FAI it e sremrm (IBCA)aga P 3 Q gra1 = S7em-arem wéRt # Rl o

A) 55, 2023 _ Direction (Q. No. 81 - 85) : Study the table and
B) 22 13, 2023 o answer the questions.
C) 9 ¥, 2023 Total pages (Hindi + English) written by P and Q
D) 37, 3023 in four different months given.
E) 399 & & wis 7 ==
- P Q
When was the International Big Cat - Month
Alliance (IBCA) launched by India ? qu?y 240 340 &\%]/
2 it
A) 5June, 2023 J?Ee 320 234 (\,
B) 22 May, 2023 Y
C) 9 April, 2023 J!uly A2l 280
D , 2023 ' I
E) None of the above

(TN %18%
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31'%ﬁpm%@“wﬁ_@£ﬁ‘wﬁ@ﬁ 83. nénpaﬁ:oaﬁmﬁa@mﬁq@iaﬂt

g H WA AN # feren st 3, 7 gﬁ@ﬁPaﬁtQﬁ:ﬁgmﬁa@nqgag@%
Ay a8 B) 25.96% e T ST R 7
C) 48.36% D) 36.75% A) 39: 21
E) 374 A 8 g T B) 37 :59
How much more percentage of pages C) 29:35

% written by P in June as compared to Q in D) 31:23

i | ) g # & B 7

same month ?

A) 33.3%

C) 48.36%

E) None of the above

B) 25.96%
D) 36.75%

82. gﬁ\éﬁamﬁa@mﬁrq@mass'ﬁ/o
%aﬁﬁ%laﬁmgaéﬁﬁmﬁaﬁsﬂqq

for@ T ?

v - A) 200 2

M / B) 268 F}

N .

C) 232

ﬁ\i@ D) 284

O E) IHEAAHR T

M

28.57% of the total pages written by Q in
Nguly is in Hindi. How many English pagesB

2

o are written by Q in July ? ‘
g A) 200 \% 4
B) 268 *
C) 232 \\
D) 284 / &

E) None of the above

-~

W

—%lé*“\‘ ‘

What is respective ratio between the total
pages written by both P and Q in May and
the total pages written by both P and Qin
July ?

A) 39:21

B) 37:59

C) 29:35

D) 31:23

E) None of the above

ot TRt & P g R T ol T R ?
A) 360

B) 300

C) -256

D) 243

E) Iuda 1 § ®Is T

What are the average pages written =5 1=
El :::

- 84.

by P in all the months together ?
A) 360

B) 300

C) 256

D) 243

E) None of the above

JF4 (RO

R19%
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78. ﬁn%%ﬁﬁﬂ%ézoze;ﬁﬂn—m%m

3T TRH (Argwery) fiver 2
A) WG FAR

B) Af@em ymag

C) TXelt=ra T Y

D) &% g

E) Svdw & § *id

Who among the followin
o El g g received the

E Arjun Award (Lifetime) in 2024 for -
LEHH, |
Para-Swnmmlng ?

A) Sharad Kumar

B) Mariyappan Thangavelu
C) Murlikant Rajaram Petkar
D) Devendra Jhajharia

E) None of the above

79. Wmm@aﬁwhmusm)m
& T2 oy 2

A) 53, 2023

B) 22 W3, 2023

C) 9 318, 2023

D) 3 i, 2023

E) 39w & & #1 7

When was the International Big Cat:
Alliance (IBCA) launched by India ?
A) 5 June, 2023

B) 22 May, 2023

C) 9 April, 2023

D) 3 March, 2023

E) None of the above

by,

EI8E

80. ‘witae w=h T R 7 B

A) Tl
B) WY 9% €19
C) ATt TEE
D) #.3TR. T
E) IR & & % T8
Who founded the ‘Forward Bloc' ?
A) Gandhiji
B) Subhas Chandra Bose
C) Motilal Nehru
D) C.R. Das

E) None of the above

ﬁ%s.r(n.ﬁ.'ay—as) T 1 Ao = 3R w5
FIWS |

Paﬁzgmmm—mn@ﬁiﬁ%@mw
73 (&=t + afish) fow oo § |

Direction (Q. No. 81 - 85) : Study the table and
answer the questions.

Total pages (Hindi + English) written by P and Q
in four different months given.

g
Month P Q %’
May 240 340 g /€ -.
R 320 234 |G
W
e )
s 420 20 |
Auguet | 220 360

(IMRTTTAOT A

w18%
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M"M

R
o1, o & P e R g g o s QY
ger # WA e e it 2, 7
A) 33.3% B) 25.96%
C) 48.36% D) 36.75%
£) sude # & F1E T

- How much more percentage of pages
,[ﬂ%% written by P in June as compared to Q iln
R4 me month ?

A) 33.3%
C) 48.36%

E) None of the above

B) 25.96%
D) 36.75%

82. aﬁéﬁoamﬁrémgag@mzasm
AR Qamgﬁéﬁﬁﬁﬁaﬁiﬁ‘{%

for@ Ty ?
A) 200
7 / B) 268 4
N -_
C) 232 '
,ﬁ\\% D) 284

58.57% of the total pages written by Q in
'nJuly is in Hindi. How many English pages

2

:

are written by Q in July ?

A) 200

o £ . M «;’i;c
o

C) 232 Q/ 4

D) 284 / & '

E) None of the above

g3. TS d p 3k QA g

- 84.

o T T I I

o & o i Q2 g ford T F TB

i S A T8 7

A) 39:21

B) 37:59

C) 29:35

D) 31:23

E) ST § & FS T

What is respective ratio between the total
pages written by both P and Q in May and
the total pages written by both P and Q in
July ?

A) 39: 21

B) 37:59

C) 29:35

D) 31:23

E) None of the above

woft we | p g ford e afted g 1 E ?
A) 360

B) 300

C)-256
D) 243

E) IugTa & § HIs el
What are the average pages written [=] lg
by P in all the months together ? [E1E::
A) 360

B) 300

C) 256

D) 243

E) None of the above

N2

w193
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85. m§ 3k 5 P g1 for@ M e e, W 3k
37T § Q {RT o U oA gat 1 @

fepc wfowa & 2

A) 78% B) 70%
C) 80% D) 56%
E) Iwiww ¥ @+ 7

Total pages written by P in May and June
=] l%l together is approximately, what percent
BI¥ of the total pages written by Q in May and

August together ?
A) 78% B) 70%
C) 80%

D) 56%
- E) None of the above )

86. WM ITHYM U fowm W1a (DRDO) i
e form o g oft ¢
A) 1962
C) 1972

E) 3w 8 @ =15 78

Defence Research and Development
Organization (DRDQ) was establi

B) 1958_
D) 1968

the year
A) 1962 B) 1954 |
C) 1972 D) 196

E) None of the above

87. V230 fow 3 TR ot 3 e R 2 7

A) 19 3tk 20 B) 183 19
C) 17 3t 18 D) 16 3 17
E) 3w & & = i

Between which two consecutive integers
does /290 lie ?

T,
88 NTa A SEEATIH ___ wgwomm 2 | !

A) Tty B) @l #l
C) witfea D) fegm
E) 3wdw # ¥ s 7

The Brahmaputra River is called

in Tibet.
A) Tsangpo B) Lhasa
C) Lohit D) Dihang

E) None of the above

B9. WA 1 Teew fodelt 5 iy g fvm 3w
€ g3l ?
A) SRS
C) et
E) 30w # ¥ w7

India’s first overseas Jan Aushadi Kendra
was installed in

A) Bangladesh B) Mauritius

C) SriLanka D) Nepal

E) None of the above L

90. ¥R HiUT % ITwde 57 F AR i =l
SN %9 e R e 2, @ P
A vg uror e R, 59 wfum ¥ o yEuE %
L HH v
I, I 9T W §H:-TE & o am g |
A) e SR -
B) wumwE
C) U=t
D) -, .
E) 3w ¥ ¥ #15 7E
.. According to Article 57 of the Indian Constitution
a person who holds, or who has held, office
as shall, subject to the other
provisions of this Constitution, be eligible for

re-election to that office.
A) Attorney General

B) il
D) AT

B) Prime Minister
A) 19and 20 B) 18and 19 C) President
C) 17and 18 D) 16 and 17 D) Vice-President
E) None of the above E) None of the above
. ] "
[-JF4 (T w207
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91.

92.

93.

,Erlygl‘E]Where was the 18" Pravasi Bharatiya |
Ei}?‘?% Divas (PBD) Convention 2025 held ?

P

wger < e Rt 3 gevi e o
Id B, T fmi frg 01 s %
TGRS H g A 7

A) SIRY Wi

B) &I« A

C) fegan : | B
D) 3TENh

E) TR § § H1 &
The Girnar Rock Inscription of Rudradaman
refers to Sudarshan Lake, constructed ¢
during the reign of which Mauryan ruler ?
A) Dasharatha Maurya

B) Chandragupta Maurya

C) Bindusara

D) Ashoka
E) None of the above

27 fordeR i % w9 | T @8 |
A) foara wien feaw .

B) wgT T feaw

C) IFausdia wnawar feas

D) Thereh feem

E) I 5 § 1S T

27'h September is observed as
A) World Tourism Day

B) United Nations Day

C) International Literacy Day
D) Teachers' Day

E) None of the above

18 91 et Wil s (PBD)Htﬁa-—rzozs
THal RN fomam /= o ?

A) BEUETE B) Yeva
C) HAgHQETg D) =5 feosht
E) SwiE 3 & Hi§ T

B) Bhubaneshwar
D) New Delhi

A) Hyderabad
C) Ahmedabad
E) None of the above

94, Freifian & 3 Fr—a1 TS YFE b AA-GER

1 Tl i TEn H aE HOE @ 7
A) TEE

B) afifsm

C) W=

D) &

E) S7 3 | # 7

Which of the following States faces the
most serious issue of groundwater [FFEE.E
over-exploitation ? CLis
A) Meghalaya

B) Odisha

C) Punjab

D) Kerala

E) None of the above

95. ‘=T’ R TS i T TR O AT §I8 7

A) HERISE

B) T

C) TN&H

D) W&y Wew

E) Sugw & ¥ PIe T
‘Maach’ is a traditional folk theatre form of
which State ?

A) Maharashtra

B) Gujarat

C) Rajasthan
D) Madhya Pradesh
E) None of the above

JF4

(N O

w21
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ﬁéw(w.é.ss—wo):ﬁtqﬁ:rf@amm
mﬁmﬁﬁﬂuﬁ%mél

A faw M e o AR stem-srem gwE A
A, B, C 3 D gRT 39 T g wréz 37 & wen
m%ﬁmﬁﬁﬁm—mﬁﬁmﬂ%m
éﬁﬁ:ﬁﬁ@ﬁnwmn—amgwﬁmaam
TRAT R T R D

==
ot
e

Direction (Q. No. 96 -1 00) : Study the following
information carefully and answer the questions.
The given line graph shows the number of
ball point pens sold by four different shopsi.e. A, B,
C and D and also given the number of gel pens sold
by four different shops and the number of fountain
pens sold by four different shops.
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A) 100%

B) 80%

C) 120%

D) 50%

E) 39w % § % T

The total number of gel pens sold by shops
A and B together is what percentage of the

total number of ball point pens sold by
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B) 80%
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Il point pens sold
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w4 Of ball point and fountain pens sold by shop A
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A) 480
C) 720

E) 37T | 9 1§ 7

Out of the total number of pens sold by shop F,
40% of the pens are fountain pens. If the ratio
of the number of fountain pen sold by shop D

to shop F is 3 : 4, then find the total number
of pens sold by shop F. 1

A) 480
C) 720
E) None of the above

B) 600 |
D) 560+

B) 600
D) 560"
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A) 230 B) 340
C) 190 D) 250
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Find the difference between the total number

““and the total number of ball point pens sold
by shop D.

A) 230
C) 190
E) None of the above

B) 340"
D) 250!
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A) 450 B) 290
C) 410 D) 320
E) 39w o @ %15 T

Ifthe total number of ball point, gel and fountain
pens sold by shop E is 33.33% less than
that of shop C and the ratio of the number
of fountain pens sold by shop C to shop E
is7: 5, then find the total number of ball point
and gel pens sold by shop E.

A) 450 B) 290

C) 410 D) 320

E) None of the above
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Find the ratio of the total number of ball point
pens sold by shop A to the total number
of fountain pens sold by shops A and B

B) 1:4
D) 9:8

together.
A) 5:3 B) 1:4
G) 2:7 D)9:8

E) None of the above
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